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2. BFSEH RRFIER B E 838 20 BT ZHF R R B AT LL AR SR EEA
RAEVZFEHEMERFARRBBA .

3. HARPERINR - LAFHRY HEANRRIMANES, REHE G K BR

HEFRBNSRY.
4 TERX B R ARG A N AT R B EE KB TR B K O B R X
—H B R B ER .
ULt = U B 1

1. B2 T3 eR BT E B
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(1) y = ~sinx — 1 (Z)yztl_’l_—x

2. HB P RMAN B RYPRECRR R I REER.
(D) f(x) = cosx g(xr) = ~/1 — sin’r

(D f(r) = Vx(x + 2) g(x) =~x «Sx+2

3. FIWr T 51 el B T B

(Df () = Jfl () f(x) = zte ™~

4. EHEE LXK EHEE .

@ ( oo, + o) ()0, + o)

(©)(— 09,0 - 1,1

(D EY f()=1— 221 SR be Bl

@ & fo =L % H0R

DEW () =1— & B

Ry =@ =TT M= = Duy=Fo =

y =) BE LIBEC Yoy = FNx) BIEBRE ( Yo

6. # () = T () = l—i—;,mu fIF()] = ( ) FLF] = (

7. BH f(2) = lna,3RiE f(2) + fa+ 1) = fla(e + 1],

8. B y = arctg V (2% + 1)er £ i WPEL R ¥ & T RLAY 2
e’ <0

9. LRI S(2) = % =0

Int >0
(D fE f() MK
(23K f(— D). Q) BE



